CONTRACT NO. 8317

DATE: 4/23/24				Integrity				
		•	and & Gravel, nc.	Grading & Excavating, Inc.	S&L Underground, Inc.	Parisi Construction, LLC	Capitol Underground, Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
Section B: Proposal Page								
10701 - TRAFFIC CONTROL - LUMP SUM	1.00	\$1,500.00	\$1,500.00	\$10,000.00	\$4,000.00	\$2,700.00	\$5,800.00	\$5,000.00
10911 - MOBILIZATION - LUMP SUM 20101 - EXCAVATION CUT	1.00	\$64,000.00	\$64,000.00	\$55,000.05	\$88,389.00	\$250,000.00	\$116,500.00	\$440,267.19
- C.Y.	6100.00	\$3.00	\$18,300.00	\$8.50	\$4.00	\$4.30	\$19.35	\$42.50
20109 - FINISH GRADING - LUMP SUM	1.00	\$8,000.00	\$8,000.00	\$25,000.00	\$5,000.00	\$5,300.00	\$16,200.00	\$3,000.00
20130 - UNDERDRAIN - L.F.	700.00	\$13.00	\$9,100.00	\$13.35	\$15.20	\$24.75	\$14.65	\$22.50
20140 - GEOTEXTILE FABRIC TYPE SAS								
(NON-WOVEN) - S.Y.	1340.00	\$2.50	\$3,350.00	\$1.22	\$2.00	\$3.00	\$2.75	\$2.80
20141 - GEOSYNTHETIC								
REINFORCEMENT FABRIC - S.Y.	2520.00	\$5.50	\$13,860.00	\$1.83	\$5.30	\$3.80	\$4.40	\$8.20
20202 - FILL BORROW - C.Y.	10400.00	\$7.00	\$72,800.00	\$2.85	\$17.60	\$0.01	\$8.90	\$21.00
20204 - SELECT FILL - TON	19560.00	\$14.25	\$278,730.00	\$13.50	\$13.30	\$9.40	\$14.90	\$16.70
20217 - CLEAR STONE - TON	400.00	\$19.60	\$7,840.00	\$16.72	\$19.60	\$21.75	\$21.50	\$22.00
20219 - BREAKER RUN								
(UNDISTRIBUTED) - TON	1540.00	\$20.50	\$31,570.00	\$17.50	\$12.00	\$15.25	\$13.30	\$21.00
20221 - TOPSOIL - S.Y.	23245.00	\$1.51	\$35,099.95	\$4.00	\$1.00	\$2.30	\$1.75	\$6.10
20303 - SAWCUT ASPHALT PAVEMENT -								
L.F.	80.00	\$5.00	\$400.00	\$2.95	\$2.30	\$3.10	\$3.50	\$2.95
20322 - REMOVE CONCRETE CURB &								
GUTTER - L.F.	40.00	\$10.00	\$400.00	\$7.00	\$6.00	\$22.25	\$13.50	\$25.00
20323 - REMOVE CONCRETE		4	4	**		**	4-00	4
SIDEWALK & DRIVE - S.F.	140.00	\$5.00	\$700.00	\$2.00	\$4.00	\$6.30	\$5.80	\$7.00
20326 - REMOVE FENCE - L.F.	50.00	\$12.00	\$600.00	\$7.75	\$8.00	\$8.10	\$10.75	\$21.00
20404 - CLEARING - LUMP SUM	1.00	\$7,000.00	\$7,000.00	\$8,250.00	\$1,985.00	\$8,700.00	\$8,250.00	\$6,000.00
20409 - GRUBBING - LUMP SUM	1.00	\$2,000.00	\$2,000.00	\$2,250.00	\$1,985.00	\$2,400.00	\$2,250.00	\$6,000.00
20501 - ADJUST SEWER ACCESS	4.00	#4 400 00	£4.400.00	#005.54	#4.444.00	# 000 00	# 545.00	#4.000.00
STRUCTURE - EACH	1.00	\$1,400.00	\$1,400.00	\$205.54	\$1,144.00	\$600.00	\$515.00	\$1,000.00
20705 - DETENTION BASIN SEEDING -	1105.00	<u></u>	#9 940 7 5	ቀ ጋ ዕይ	ቀ ጋ በE	¢2.00	¢ ጋ	ድጋ በበ
S.Y.	1125.00	\$2.95	\$3,318.75	\$2.85	\$2.95	\$3.00	\$2.85	\$2.00

CONTRACT NO. 8317

DATE: 4/23/24		ا	Sand & Gravel, Inc.	Integrity Grading & Excavating, Inc.	S&L Underground, Inc.	Parisi Construction, LLC	Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
21002 - EROSION CONTROL INSPECTION - EACH 21011 - CONSTRUCTION ENTRANCE -	5.00	\$400.00	\$2,000.00	\$400.02	\$400.00	\$210.00	\$100.00	\$75.00
EACH	3.00	\$1,500.00	\$4,500.00	\$1,000.00	\$980.00	\$200.00	\$540.00	\$630.00
21013 - STREET SWEEPING - LUMP SUM 21022 - SILT FENCE - PROVIDE,	1.00	\$10,000.00	\$10,000.00	\$8,350.00	\$3,000.00	\$8,100.00	\$6,700.00	\$8,000.00
INSTALL & MAINTAIN - L.F. 21023 - SILT FENCE - REMOVE AND	12570.00	\$1.95	\$24,511.50	\$1.30	\$1.95	\$1.40	\$1.30	\$3.00
RESTORE - L.F.	12570.00	\$0.10	\$1,257.00	\$0.38	\$0.10	\$0.40	\$0.38	\$1.00
21049 - INLET PROTECTION, RIGID 21050 - INLET PROTECTION, RIGID	15.00	\$275.00	\$4,125.00	\$160.00	\$275.00	\$170.00	\$305.00	\$400.00
FRAME - MAINTAIN - EACH 21051 - INLET PROTECTION, RIGID	25.00	\$35.00	\$875.00	\$50.00	\$35.00	\$53.00	\$25.00	\$20.00
FRAME - REMOVE - EACH 21063 - EROSION MATTING, CLASS I,	15.00	\$15.00	\$225.00	\$50.00	\$15.00	\$53.00	\$55.00	\$50.00
TYPE A - ORGANIC - S.Y. 21073 - EROSION MATTING, CLASS II,	22120.00	\$1.80	\$39,816.00	\$1.30	\$1.80	\$1.40	\$1.30	\$2.10
TYPE C - ORGANIC - S.Y. 30201 - TYPE "A" CONCRETE CURB &	1125.00	\$4.75	\$5,343.75	\$16.95	\$4.75	\$18.00	\$9.00	\$5.20
GUTTER - L.F. 30203 - TYPE "X" CONCRETE CURB &	3686.00	\$25.34	\$93,403.24	\$20.20	\$20.40	\$22.75	\$20.60	\$20.40
GUTTER - L.F.	52.00	\$39.14	\$2,035.28	\$25.20	\$25.45	\$47.00	\$25.60	\$25.45
30302 - 5 INCH CONCRETE SIDEWALK - 30304 - 7 INCH CONCRETE SIDEWALK	5685.00	\$5.90	\$33,541.50	\$5.50	\$5.90	\$4.60	\$5.80	\$6.75
& DRIVE - S.F. 30340 - CURB RAMP DETECTABLE	930.00	\$10.33	\$9,606.90	\$7.90	\$7.98	\$10.25	\$8.20	\$9.20
WARNING FIELDS - S.F.	120.00	\$51.00	\$6,120.00	\$45.00	\$45.45	\$60.00	\$45.00	\$45.45
40101 - CRUSHED AGGREGATE BASE COURSE GRADATION NO. 1 - TON	2055.00	\$20.50	\$42,127.50	\$18.00	\$16.70	\$21.75	\$19.55	\$27.00

CONTRACT NO. 8317

DATE. 4/23/24			Sand & Gravel, Inc.	Integrity Grading & Excavating, Inc.	S&L Underground, Inc.	Parisi Construction, LLC	Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
40102 - CRUSHED AGGREGATE BASE COURSE GRADATION NO. 2 - TON 40202 - HMA PAVEMENT 4 LT 58-28 S - TON 40218 - TACK COAT - GAL 40301 - FULL WIDTH GRINDING - S.Y.	6880.00 2225.00 380.00 330.00	\$21.00 \$93.00 \$2.75 \$16.00	\$144,480.00 \$206,925.00 \$1,045.00 \$5,280.00	\$18.25 \$78.00 \$2.22 \$15.00	\$16.70 \$78.79 \$2.24 \$15.15	\$19.00 \$83.00 \$2.40 \$16.00	\$19.55 \$78.00 \$2.22 \$15.00	\$27.00 \$78.79 \$2.24 \$15.15
40410 - CONCRETE SPEED HUMP - S.Y.	70.00	\$96.31	\$6,741.70	\$129.00	\$139.00	\$140.00	\$126.00	\$142.00
50202 - DEWATERING TYPE II - LUMP SUM 50211 - SELECT BACKFILL FOR STORM	1.00	\$500.00	\$500.00	\$7,500.00	\$1.00	\$6,300.00	\$0.01	\$24,000.00
SEWER - T.F. 50212 - SELECT BACKFILL SANITARY	1121.00	\$1.00	\$1,121.00	\$0.01	\$0.01	\$0.01	\$0.01	\$0.01
SEWER - T.F. 50225 - UTILITY TRENCH PATCH TYPE	120.00	\$1.00	\$120.00	\$0.01	\$0.01	\$0.01	\$0.01	\$0.01
III - T.F. 50301 - 8" PVC SEWER PIPE (SDR 26) -	35.00	\$57.70	\$2,019.50	\$84.00	\$99.50	\$130.00	\$85.55	\$150.00
L.F. 50401 - 12 INCH TYPE I RCP STORM	120.00	\$75.49	\$9,058.80	\$201.00	\$106.00	\$95.00	\$107.60	\$243.00
SEWER PIPE - L.F. 50402 - 15 INCH TYPE I RCP STORM	573.00	\$74.87	\$42,900.51	\$79.20	\$68.90	\$86.00	\$74.80	\$104.00
SEWER PIPE - L.F. 50403 - 18 INCH TYPE I RCP STORM	141.50	\$82.40	\$11,659.60	\$83.70	\$77.30	\$73.00	\$80.30	\$110.00
SEWER PIPE - L.F. 50405 - 24 INCH TYPE I RCP STORM	83.00	\$88.15	\$7,316.45	\$93.60	\$83.30	\$70.00	\$81.95	\$116.00
SEWER PIPE - L.F. 50441 - 8 INCH TYPE III STORM SEWER	184.50	\$101.66	\$18,756.27	\$101.60	\$100.00	\$92.00	\$91.95	\$129.00
PIPE - L.F.	42.00	\$68.75	\$2,887.50	\$85.70	\$49.70	\$58.00	\$80.40	\$93.00
50461 - 12 INCH RCP AE - EACH	4.00	\$1,190.00	\$4,760.00	\$1,168.00	\$1,474.00	\$2,100.00	\$1,650.00	\$1,900.00
50462 - 15 INCH RCP AE - EACH 50463 - 18 INCH RCP AE - EACH	1.00 3.00	\$1,265.00 \$1,320.00	\$1,265.00 \$3,960.00	\$1,278.00 \$1,338.00	\$1,863.00 \$1,672.00	\$2,100.00 \$2,200.00	\$2,250.00 \$1,750.00	\$2,100.00 \$2,300.00

CONTRACT NO. 8317

			Sand & Gravel, Inc.	Integrity Grading & Excavating, Inc.	S&L Underground, Inc.	Parisi Construction, LLC	Capitol Underground, Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
50465 - 24 INCH RCP AE - EACH 50501 - PRECAST REINFORCED CONCRETE BOX CULVERT (6' SPAN X	6.00	\$1,525.00	\$9,150.00	\$1,538.00	\$1,750.00	\$2,300.00	\$1,550.00	\$2,600.00
3' RISE) - L.F. 50511 - REINFORCED CONCRETE BOX CULVERT WINGWALLS (6' SPAN X 3'	97.00	\$662.46	\$64,258.62	\$689.00	\$908.00	\$850.00	\$1,020.00	\$1,120.00
RISE) - EACH	2.00	\$19,173.00	\$38,346.00	\$21,500.00	\$16,120.00	\$11,700.00	\$4,960.00	\$14,000.00
50701 - 4' DIA. SANITARY SAS - EACH	1.00	\$5,160.00	\$5,160.00	\$5,581.00	\$6,380.00	\$8,800.00	\$5,575.00	\$6,500.00
50723 - 3'X3' STORM SAS - EACH	3.00	\$4,035.00	\$12,105.00	\$3,855.00	\$3,560.00	\$4,600.00	\$5,530.00	\$5,225.00
50741 - TYPE H INLET - EACH 50771 - INTERNAL CHIMNEY SEAL -	13.00	\$2,724.00	\$35,412.00	\$2,666.00	\$3,041.00	\$4,100.00	\$3,060.00	\$3,390.00
EACH	1.00	\$417.80	\$417.80	\$623.00	\$450.00	\$730.00	\$460.00	\$365.00
50791 - SANITARY SEWER TAP - EACH	1.00	\$1,000.00	\$1,000.00	\$4,366.00	\$1,436.00	\$5,700.00	\$1,385.00	\$2,200.00
50792 - STORM SEWER TAP - EACH 50797 - EXTERNAL SEWER ACCESS	1.00	\$3,000.00	\$3,000.00	\$4,266.00	\$915.00	\$1,500.00	\$950.00	\$1,700.00
STRUCTURE JOINT SEAL - EACH 50801 - UTILITY LINE OPENING (ULO) -	1.00	\$675.00	\$675.00	\$524.00	\$214.00	\$510.00	\$440.00	\$615.00
EACH 60232 - FURNISH & INSTALL 2 INCH	6.00	\$500.00	\$3,000.00	\$1,058.00	\$915.00	\$730.00	\$800.00	\$700.00
PVC (SCHEDULE 40) CONDUIT - L.F. 60241 - GOPHER RACEWAY FOR	4975.00	\$8.00	\$39,800.00	\$8.00	\$8.00	\$8.50	\$8.00	\$8.00
ELECTRICAL CONDUIT - L.F. 60255 - FURNISH & INSTALL 3 #6 AND 1 #8 WIRES IN EXISTING OR CONTRACTORINSTALLED CONDUIT -	10.00	\$35.00	\$350.00	\$35.00	\$35.00	\$37.00	\$35.00	\$35.00
L.F.	5100.00	\$8.00	\$40,800.00	\$8.00	\$8.00	\$8.50	\$8.00	\$8.00
60261 - ELECTRICAL TRENCH - L.F.	2750.00	\$4.00	\$11,000.00	\$4.00	\$4.00	\$4.20	\$4.00	\$4.00
60402 - CONSTRUCT LB-2 BASE - EACH 60413 - CONSTRUCT TYPE "P' BASE -	25.00	\$900.00	\$22,500.00	\$900.00	\$900.00	\$950.00	\$900.00	\$900.00
EACH	1.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,600.00	\$1,500.00	\$1,500.00

CONTRACT NO. 8317

DATE: 4/25/24				1.4				
			Sand & Gravel, Inc.	Integrity Grading & Excavating, Inc.	S&L Underground, Inc.	Parisi Construction, LLC	Capitol Underground, Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
60702 - CONSTRUCT ELECTRICAL HANDHOLE TYPE 1 - EACH 60704 - CONSTRUCT ELECTRICAL	3.00	\$1,400.00	\$4,200.00	\$1,400.00	\$1,400.00	\$1,500.00	\$1,400.00	\$1,400.00
HANDHOLE TYPE 3 - EACH 60800 - PAVEMENT MARKING EPOXY,	8.00	\$725.00	\$5,800.00	\$725.00	\$725.00	\$770.00	\$725.00	\$725.00
LINE, 4-INCH - L.F.	5000.00	\$1.90	\$9,500.00	\$1.90	\$1.90	\$2.00	\$1.90	\$1.90
60812 - PAVEMENT MARKING EPOXY,								
CROSSWALK, 6-INCH - L.F.	150.00	\$10.50	\$1,575.00	\$10.50	\$10.50	\$11.25	\$10.50	\$10.50
60818 - PAVEMENT MARKING EPOXY,								
STOP LINE, 24-INCH - L.F.	30.00	\$17.00	\$510.00	\$17.00	\$17.00	\$18.00	\$17.00	\$17.00
60894 - SKID/SLIP RESISTANT								
PREFORMED THERMOPLASTIC								
PAVEMENT MARKING, BIKE LANE	100.00	* 40.00	* 4 000 00	# 40.00	440.00	440.75	* 40.00	* 40.00
GREEN - S.F. 70002 - FURNISH AND INSTALL 6 INCH	400.00	\$12.00	\$4,800.00	\$12.00	\$12.00	\$12.75	\$12.00	\$12.00
PIPE & FITTINGS - L.F.	20.00	\$94.81	\$1,896.20	\$117.00	\$52.00	\$110.00	\$103.00	\$127.00
70003 - FURNISH AND INSTALL 8 INCH	20.00	Ф9 4 .01	φ1,090.20	Φ117.00	φ32.00	\$110.00	φ103.00	φ127.00
PIPE & FITTINGS - L.F.	300.00	\$98.10	\$29,430.00	\$126.00	\$90.00	\$97.00	\$106.25	\$170.00
70031 - FURNISH AND INSTALL 6-INCH	000.00	φου. το	Ψ20, 100.00	Ψ120.00	φου.σσ	φον.σσ	Ψ100.20	Ψ170.00
WATER VALVE - EACH	1.00	\$3,000.39	\$3,000.39	\$1,852.00	\$2,474.00	\$3,800.00	\$3,160.00	\$2,665.00
70032 - FURNISH AND INSTALL 8-INCH		. ,	, ,	. ,	, ,	. ,	. ,	. ,
WATER VALVE - EACH	2.00	\$3,443.96	\$6,887.92	\$2,550.00	\$3,250.00	\$4,900.00	\$3,930.00	\$3,475.00
70040 - FURNISH, INSTALL AND								
SALVAGE HYDRANT - EACH	1.00	\$7,999.19	\$7,999.19	\$7,319.00	\$6,250.00	\$6,600.00	\$6,450.00	\$7,000.00
70080 - CUT-IN OR CONNECT TO								
EXISTING WATER SYSTEM - EACH	1.00	\$1,800.00	\$1,800.00	\$8,900.00	\$2,368.00	\$2,600.00	\$1,085.00	\$2,740.00
70082 - CUT OFF EXISTING WATER								
MAIN - EACH	1.00	\$981.82	\$981.82	\$4,266.00	\$727.00	\$2,600.00	\$1,280.00	\$575.00
70101 - FURNISH AND INSTALL	2.00	#400.00	#4 000 00	Ф77 Г Г	#400.00	# 000 00	# 200 00	¢405.00
STYROFOAM - EACH 70104 - ADJUST WATER VALVE BOX -	3.00	\$400.00	\$1,200.00	\$77.55	\$130.00	\$260.00	\$220.00	\$125.00
EACH	1.00	\$600.00	\$600.00	\$205.50	\$428.00	\$410.00	\$210.00	\$565.00
LAOIT	1.00	φυσυ.συ	φυσυ.συ	Ψ200.00	ψ 1 20.00	ψ 4 10.00	Ψ2 10.00	ψυυυ.υυ

CONTRACT NO. 8317

			Sand & Gravel, Inc.	Integrity Grading & Excavating, Inc.	S&L Underground, Inc.	Parisi Construction, LLC	Capitol Underground, Inc.	R. G. Huston Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price	Price	Price
90001 - PAVEMENT MARKING EPOXY, SPEED HUMP ARROW (6'X6') - EACH 90002 - FURNISH & INSTALL METERED ELECTRIC SERVICE & BREAKER	2.00	\$325.00	\$650.00	\$325.00	\$325.00	\$340.00	\$325.00	\$325.00
PANEL - EACH	1.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,700.00	\$2,500.00	\$2,500.00
90003 - LOW GROWING ROW NATIVE SEED MIX - S.Y. 90004 - CONCRETE PAVEMENT	5380.00	\$1.80	\$9,684.00	\$1.90	\$1.80	\$2.00	\$1.90	\$2.60
APPROACH SLAB - S.Y.	80.00	\$278.76	\$22,300.80	\$260.00	\$262.63	\$230.00	\$250.00	\$262.63
90005 - REMOBILIZATION - LUMP SUM 90030 - CHANNEL GRADING - LUMP	1.00	\$2,800.00	\$2,800.00	\$6,000.00	\$1,000.00	\$500.00	\$6,600.00	\$1,000.00
SUM 90031 - GRADING FOR SOARING SKY	1.00	\$2,000.00	\$2,000.00	\$895.00	\$820.00	\$1,800.00	\$3,240.00	\$10,000.00
STORMWATER POND - LUMP SUM 90070 - EXCAVATE AND BACKFILL AT EXISTING SAS TO INSTALL SAS JOINT	1.00	\$6,000.00	\$6,000.00	\$17,220.00	\$3,772.00	\$5,200.00	\$4,320.00	\$6,400.00
SEAL - EACH 90071 - REBUILD SEWER ACCESS	12.00	\$1,000.00	\$12,000.00	\$355.00	\$1,200.00	\$3,100.00	\$3,200.00	\$8,800.00
STRUCTURE - EACH	5.00	\$2,000.00	\$10,000.00	\$2,133.00	\$1,870.00	\$4,900.00	\$3,250.00	\$7,700.00
95 Items	Totals		\$1,746,842.44	\$1,752,682.00	\$1,753,637.91	\$1,838,883.66	\$1,911,348.70	\$3,007,000.00